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1.3 0, | 1 U IEmatas o €, a@

l1-o

0 +0*

(@) 3
(b) 2
(c). 1

4
(d) B

HAA TG ?

LHad 0, 1,2, 3,4 3R 5F (VS
T& 9R) ST & 6 ! aqret At
feralt weaTg ST o TRt € S 6 @
ST B ?

(a) 96
(b) 120
(c) 192
(d) 312

.Mdd g 1011 & g fg-smary
e TR ?

(@) 1011

(b) 111011
(c) 11111001
(d) 111110011

4. W ARG 4 TF 3x3 A 1 w2
IR |4|=4 B | TR |2 adj(34)| =223
?, W(a+p) AR HT & ?

(@) 12
(b) 13
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{c): . ¥2

d 24

5.9f¢ o 3R BEHEHT 2 —x+1=0F

100 , 100
+p
& A T
B0

a
o' _

fawmEa
g2
(a) V3

®) 2
() 1

1
@ 5

6.9 ifsit 4 3R B &wE Hfe &

T segg €, @ (4B - BA) & woH
Ffmffm i dan-arowmadt @ 2

1. T faat wfafea aom afe=
AR §

2. g@ht R-fawof  (Non-diagonal)
wfafeat &1 anee = R

i fiu T Fe F1 A W g TN
Eﬁrwﬁﬁq:

(@) Faa@1
(b) Fae 2

(c) 1R 23t
(d) FqT1, &2



1. If @ is a non-real cube root of 1, then

what is the value of 1—cu2 s
0+®
(@) 3
) V2
(c) 1
i
(d) NE
. What is the number of 6-digit numbers

3.

that can be formed only by using
0, 1, 2, 3, 4 and 5 (each once); and
divisible by 6 ?

(a) 96

(b) 120

(c) 192

(d) 312

What is the binary number equivalent
to decimal number 1011 ?

(a) 1011
(b) 111011
(c) 11111001

(d) 111110011

Let A be a matrix of order 3x3 and
|d|=4. If |2adj(34)|=293P, then
what is the value of (a+f)?

(a) 12

(b) 13

S.

(c) 17

d) 24

If @ and B are the distinct roots of
equation x2 — x +1 = 0, then what is the

aIOO ¥ 5100

value of ?
' _ ﬁlOO

@ 3
(b) 2
(c) 1

1
(d) B

Let A and B be symmetric matrices
of same order, then which one of
the following is correct regarding
(AB—-BA)?

1. Its diagonal entries are equal but
nonzero

2. The sum of its non-diagonal
entries is zero

Select the correct answer using the
code given below :

(@ 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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7. G W ' TS 9 AR 4, B, C
F ded # frafafen st w fiErR
$ifsa .

1. AB=AC = B=C,afc A"
?

Z.ﬂ%nﬁﬁﬁﬁaﬁ?Eﬁﬂmﬁﬁ)(%
fw BY=cx &, ?B=C

ST FAA A BH-A /R T /R 7
(a) ¥ 1

(b) ¥4 2

(c) 1323t

(d FA1,A&2

8. o wihtewr fem x+2p+z=4,

2x+4y+2z=8 3R 3x+6y+32=10
FT /&

(a) wfgea a1 @
(b) AT & &

(c) & B TR ©
(d) TdE 9 & €

. HF 9T AX = B, 3 J9E@ & @9
3 e wfiauit &1 uw fFem R | WM
e X, 3R X, 8% @ B & €
afe aX, +bX, 1 GAH, AX=BH T
_&'?"T%, masﬂ?bmm%$
@t frafafaa & & F-ur faoer @&
(@) a=b

() a+b=1
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10.

11.

12.

(c) a+tb=0
(d) a-b=1

0 x-a x-b
0 0 x-c
x+b x+c 1

¥ Wt w1 dew R 7
(@ a+b+c
(b) a-b+c

(c) atb-c

HHIEHT =0

@ a-b-c

afg 2-iy/3, S&t i=+-1 8, wfiew
X+ax+b=0F T qq & @ (a+b)
FAA TR ?

(a) -11
() -3
() 0
@ 3

L R R

z T 0T T § 7

T
(@) 3

(b)-;

(0 v

@~



;&

9.

Consider the following statements in
respect of square matrices 4, B, C each
of same order n :

1. AB=AC = B=C if A is non-
singular

2. If BX=CX for every column
matrix X having n rows then
B=C

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

. The system of linear equations

x+2y+z=4, 2x+4y+2z=8 and
3x+6y+3z=10 has

(a) a unique solution
(b) infinite many solutions
(c) no solution

(d) exactly three solutions

Let AX=B be a system of 3 linear
equations with 3-unknowns. Let X;
and X, be its two distinct solutions. If
the combination aX;+bX; is a
solution of AX = B; where a, b are real
numbers, then which one of the
following is correct ?

@@ a=b

(b) a+tb=1

10.

11.

12.

(c) atb=0
d a-b=1

What is the sum of the roots of the

0 x-a x-b
0 0 x-e
x+b x+c 1

equation =07?

(@ at+b+c
(b) a-b+c
(c) a+b-c

d a-b-c

If 2—i/3 where i =+/-1 is a root of
the equation x% + ax + b =0, then what
is the value of (a+b)?

(a) 11
(b) -3
(c) O
@ 3

14+i/3
If z=

1-iv3

what is the argument of z ?

where i= \/—_I, then

n
(a) 3
(b) s
(e} =

@ =
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13.

14

15.

16.

afq a,b,c APHED

x+1 x+2 x+3
x+2 x+3 x+4
x+a x+b x+3

foras st © 7

(a) -1
(b) 0
(© 1
@ 2

.afe log,a, a* 3R logyx, GP § g

x T e £ 27

(@) log,(logya)
(b) log(log,b)

© log, (Izagi;J a)

(@ log,, (IZOga b)

zrf%'zd‘-k, 2%, 2% Gpit & 4 Frerfirf
H H-91 T e ® ?

(@ a, b,c, APH %

() a, b,c, GPH &

(c) a, b,c, HPH

(d) ab, be, ca, AP H ¥

TH AP F UEell AR GEAT UG W

%ﬁ?%%l ﬂﬁn?ﬁww_
RUITCHS 9T §, Ol n & A 34T € ?

(@) 5
(b) 6
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17.

18.

19.

(c)=7
(d) n» faehifa =& e < waen

k% fora quife WAl (integral values)
& fou wfiemor 2 —4x+ k=0, &
kot wem 2, % afie ¥ ok
T T 3R (0, 5)H € ?

(a) 3

() 4

(© 5

d) 6

TH AP #, wsmqax%'aﬁt%ﬁ
n Y9G F AMES LA § | FA m GGl
T ANTHA T § ?

(@) mx(m+ n)
n—1

(b) mx(m+n)

1-n
© nx(m+n)
m—1
@ nx(m+ n)
1-m
1. (25)! +1,26 & wrq &
2.(6)!+1,7 AWA B
SUYTh FAA | HH-1 /3 qEr /% ?
(a) Haa 1
(b) &ae 2
(c) 13K 23t
(d) FaT 1,782



13. If @, b, c are in AP, then what is

14.

15.

16.

x+1 x+2 x+3
x+2 x+3 x+4| equal to?
x+a x+b x+3 3

(@ -1
() 0
© 1
d 2

If log.a, a* and logyx are in GP, then
what is x equal to ? '

(@) log,(logya)
(b) logy(log,b)

(C) loga (Izogb a)

(d) log,, (g’ga b)

) ST AR
If 2€¢, 29, 2% are in GP, then which
one of the following is correct ?

(@) a, b, c are in AP
(b) a, b, c are in GP
(¢c) a, b, c are in HP

(d) ab, bc, ca are in AP

The first and the second terms of an
AP are 3 and 2 respectively. If n™

term is the largest negative term, what
is the value of n ?

@@ 5
(b) 6

17.

18.

19.

() 7

(d) n cannot be determined

For how many integral values of &, the
equation x? —4x + k= 0, where £ is an

integer has real roots and both of them
lie in the interval (0, 5) ?

(@ 3
(b) 4
(© 5
(d) 6
In an AP, the first term is x and tl;le

sum of the first » terms is zero. What
is the sum of next m terms ?

(@) mx(m+n)
n-1

b) Mxim+tn)
1-n

© nx(m+ n)

m—1

d) nx(m+n)
1-m
Consider the following statements :
1. (25)! + 1 is divisible by 26
2. (6)! + 1 is divisible by 7

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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20.?&:@&5&@&@@1%%2—:

21.

22,

Tea: Aftefea R, a1 |z| frad svrer
?7?

(a)

Wi N =

(b)
(@ 1

(d) 2

fraft awafes  wead  wfiew
|x—4|+|x—7| = 15 TTE FT § ?
(a) el T

(b) Faa

(c) Fad o

(d) I=fEa

TS 6o f: 4 — B 30 Y&R qRefyq

2R =23 st R
3x+5

f A=BIEE ©, A 4 3R B fFed a1rer

R

(a) 4 =R\{-3} 3R B = R\{-2}
(b) 4=R3R B=R\{-5}

©) 4=R\(-3} 3% B = R\{0}

(d) 4=R\{-3} 3R B=R\{2}
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23, 3R B faTd TR 2+ ax+ 5=0

24,

25.

% T amafes 7@ € | o fruffa =
% forg feafofaa & @ S /3 ==
i /% ?

1. a+p=0, a’+p2=2
2.af=-1,a=0

A for T g W oW W ad s
e :

(a) %aa 1
(b) wad 2
(c) 13R23mMt
(d) AT 1,782

a&(x‘guzzog,oxfaaﬁqema
BSAT 95 5600 ©, A x T AF F1 R ?
(@) 6

(b) 8

(c) 9

(d 10

Bx—y)(x+3y)* & w0 # fFaw wg
g7

(a) 9

() 12
(e). 15

@ 17



20. If z is a complex number such that

21,

22.

-1
h is purely imaginary, then what is

|z| equal to ?

B |

(@)

2
(b) 3
(¢ 1
d) 2

How many real numbers satisfy the
equation |x—4|+|x-7| =15 ?

(a) Only one

(b) Only two
(c) Only three

(d) Infinitely many

A mapping f:4—> B defined as

2x+3
x =
S® 3x+5

then what are 4 and B equal to ?

,x € A. If fis to be onto,

(@) A=R\{(-}} and B = R\{-%}
(b) 4 =R and B = R\{-3}
(c) 4=R\{-2} and B = R\{0}

(d 4=R\{-3} and B = R\{3}

23.

24,

25.

o and P are distinct real roots of
the quadratic equation x>+ ax+b=0.
Which of the following statements
is/are sufficient to find o ?
1. a+B=0, a2+p%=2
2.apt=-1,a=0

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If the sixth term in the binomial ex-

i 8
_8
pansion of (x‘ 3+ x%log,, x} is 5600,

then what is the value of x ?
(a) 6

(b) 8

(c) 9

(d) 10

How many terms are there in the
expansion of (3x —y)*(x + 3y)* ?

(@ 9
(b) 12
© 15
@ 17

A - ASGT-B-GNL



26.

217.

28.

p, g r 3R s AP ¥ = waR § &
pts=8 IR gr=15 %I LiCr ) 3'5[1
A TR B T e s T 7

(& 6

(b) 5
(c) 4

@ 3
foaa et de % forg frfilea
Al R R fifsa .

1. Cr,Aem R A n=2r %

2. Cn,r)FEm g Afe n=2r— 13
n=2r+l%

S9Ych FEAT A HA-A1/A T R/E ?
(a) &9 1

(b) ¥4 2

(c) 13R23mt

(@ FATL,AE2

m WAIGR @Y, n Y@ H wed §
IR THE 60 GAGR IIHS Fd R |

(m+n)FMAAFTTE ?
(a) 6
(b) 7
) 8
@d 9
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29. 49 Wifiq g ‘PERMUTATIONS’
¥ wHEdl I T x & IR U
‘COMBINATIONS’ & =l &l &1
y 2| frafafea ¥ a-mmadt 2 2
(@) x=y
(b) y=2
(c) x=4y

d y=4x

30. 3% 0, 1, 2, 4, 5 9, Fafa fog fomm
5-3hta FEATY ST St € | 50,000 /
St Tt i wferaan ferat ® ?

(@) 20%
(b) 25%

o 2

AR A 9T (02) weAt & forg fFeafafaa
R far $ifsa :

A AT sina 3R cosa FT GM, sinf3 2;
3 sina 3R cosa FT AM, tany %

31. cos2 Torh SRR ® 7
(a) (cosa — sina)?
(b) (cosa + sina)?
(¢) (cosa — sina)’®

(cosa— sim::c)2
2

(d)



26. p, q, r and s are in AP such that
p+s=8 and gr=15. What is the
difference between largest and smallest
numbers ?

(@ 6
(b) 5
(c) 4

@ 3

27. Consider the following statements

for a fixed natural number » :
1. C(n, r) is greatest if n=2r

2. C(n, r) is greatest if n =2r— 1 and
n=2r+1

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

28. m parallel lines cut n parallel lines

giving rise to 60 parallelograms. What
is the value of (m +n)?

(a) 6

®) 7

(c) 8

@ 9

11

29. Let x be the number of permutations of
the word ‘PERMUTATIONS’ and y be
the number of permutations of the
word ‘COMBINATIONS’. Which one
of the following is correct ?

(@ x=y
(b) y=2x
©) x=4
(@) y=4x
30. 5-digit numbers are formed using the

digits 0, 1, 2, 4, 5 without repetition.
What is the percentage of numbers
which are greater than 50,000 ?

(@) 20%

(b) 25%

IOO'V
ey

3

110,,
3

(©)

(d)
Consider the following for the next two .
(02) items that follow :
Let sinf be the GM of sina and cosa; tany
be the AM of sina and cosa.
31. What is cos2f equal to ?

(@) (cosa — sina)?

(b) (cosa + sina)?

(c) (cosa — sina)?

(cosa —sin oz)2
2

(d)

A — ASGT-B-GNL




32.sec2y MAM T E ?

3-sin2a
5+2sin2a

(a)

5+sin2a
3-sin2a

(b)

3-2sin2a
4 +sin2a

©

3—sin2a
4+3sin2a

d

AR A A S (02) WAt & forg freafafea
R R $ifs

10m 3 TF @ | 20 m a1 & EA9avs

@ ® St a| & frelt fig P W tan1(0-5) @
Hvr Jafa Fxar § | wW fom @9 ) =
fig PR safa Amo 2 |

BakR W FT@APH @ xR, @
frafofea wa+t ) faar fifso .

LxSF YA RIS, M 1:3 %
Faa H

2. x TEUE H FEE F R A
AT ©

Iudeh FuEl # - /A wE R /8 7
(a) Faa 1

(b) Fa 2

(c) 13R23mt

(d) AA1L,AE2
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34. Tan6 & |9Ifad A FT @ ?

(a)

Wi Alw

(b)

W | =

©

(d

PN

o S Y (6 el N Rl e
Wﬁﬂt?ﬁﬁrﬂ;:

s st 4BC ®1 uftmm, P & @i ¥
sine & AM F1 6 T ¥ | TEH W@l
BC=+33RCA=1%|

35. By &1 wfermg = @ 7
(@) V3+1
(b) V3+2
(c) \V3+3
d) 243+1

36. frafafaa samt w faar Hifso .
1. ABC wwavig B ®
2. Pow & o1 4pH E
I9gTh FAA A HH-A1/F qE B /€ ?
(a) Fa 1
(b) Fae 2
(c) 13K 23t
(d) AT 1,982



32. What is the value of sec2y?

@ 3-sin2«x
) S+2sin2a
5+sin2a
() 3-sin2a
3-2sin2a
4 +sin2a

(c)

3-sin2c
4+3sin2a

(d)

Consider the following for the next two
(02) items that follow :

A flagstaff 20 m long standing on a pillar
10 m high subtends an angle tan"!(0-5) at a
point P on the ground. Let 6 be the angle
subtended by the pillar at this point P.

33. If x is the distan(_:e of P from bottom of
the pillar, then consider the following
statements :

1. x can take two values which are in
the ratio 1:3

2. x can be equal to height of the
flagstaff

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

13

34. What is a possible value of tan0?

(@)

(b)

w | H|w

(©)

W |

@ 7

Consider the following for the next two

(02) items that follow :

The perimeter of a triangle ABC is 6 times
the AM of sine of angles of the triangle.

Further BC=+/3 and C4=1.

35. What is the perimeter of the triangle ?
@ 3+1
(b) V3+2
(€) V3+3
@) 2V3+1

36. Consider the following statements :
1. ABC is right angled triangle

2. The angles of the triangle are in
AP

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — ASGT-B-GNL



T ST A A (02) Wt F frg Pefefem 40, AR =82, < frw w1 S @ 2
R far fifve :

sin®A +sin 4 +1 @ 43
A A = sin A !
(b) 643
W0<As§%
() 83
37. x 1 AGH A T8 ?
@ 1 (d) 1243
(b) 2
() 3 AR AW A 7Y (02) WAl & forg fFeafoafaa
(d) 4 R fomr s .
BAFRETAR AR a2 7 o S =[x-2[+[3-x|+|4-x]|, Bl
xeR%,tRﬁ‘l'RTﬁﬁQ:
@ %
41. x & fFe 99 | %W gaaw AW W
= ?
®) 7 T ®
© 3 ik
(b) 3
(5
(c) 4
AR W AT 3 (02) w & o faferfea @ 0
R fomr $ifs
Progst 4BC #, a?+b*+c* =ac+3be 42, B & YATH TH FT 8 7
39, e 1 w@ey & § 7 (@) 2
(a) §HaTE ®) 3
(b) wwfgamg
(c) wHaig frys (@3
(d) fawwerg wfeh wwenvitg & @ o

ASGT-B-GNL - A 14



Consider the following for the next two 40. If c=8, what is the area of the

(02) items that follow : triangle ?
P 5
sin“A+sinAd+1 V4
Let x= g where 0<A$E (a) 43
37. What is the minimum value of x ? (b) 6'\6
il © 83
(b) 2
(© 3 (@ 1243
d) 4

' Consider the following for the next two
38. At what value of 4 does x attain the (02) items that follow :

minimum value ? : :
Consider the function

n f(x)=|x-2|+|3-x|+|4—x|, wherex € R.
@ %
. 41. At what value of x does the function
(b) 5y attain minimum value ?
n (@) 2
© 3
() 3
n
@ 3 ) 4
Consider the following for the next two d o
(02) items that follow :
In the triangle ABC, 42. What is the minimum value of the
a*+b*+c* =ac+~3bc function ?
39. What is the nature of the triangle ? (@ 2
(a) Equilateral ®) 3
(b) Isosceles
: ! (c) 4
(c) Right angled triangle
(d) Scalene but not right angled d o

15 A - ASGT-B-GNL



JR AW AT o (02) WAt F forg frafafea
R =R fifem :
ART S=0'+ 11 +21+31+41 +. ...+ 100!

R R fifv .

43. afc 9w s+t 8 A fawfom fom o,
Al AYES FIT BRI ?
(@ 0
(®) 1
(c) 2
(d) T =& forn s weran

44. 9t am s Ht 60 ¥ femfa fern g,
A AN FT B ?
(@) 1
®) 3
(c) 17
(d) 34

AR 3 9T o (02) WAt & forg Fafofa
R faur ifvg

Pt POR ®, P 9@ w91 @ ® K
cosP=1 ? | 0% afafes P = siada
g9 WS PO, QR ¥R RP # N
N, L 3R MR 38 &R &8t a1 ¢ & Py,
QL 3R RM &Y &< F9N: n, n+2, n+4
?, &l n TF Tf de ® |

45. n H HE TR ?
(a) 4
(b) 6
(c) 8
(d 10

ASGT-B-GNL - A
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46. T8 B o i e ferat # 7
(@ 12

(b) 14
(c) 16

(d) 18

A 3 AT 3 (02) W & foro frafafea
R = difse .

e g f

sinx +cosx +tanx +cotx + secx +cosecx =7

47. i W whew w fr wfiexo #
TG (reduced) feram < aear © 7

(a) sin?2x-44sin2x+36=0
(b) sin®2x+44sin2x—36=0
(¢) sin®2x-22sin2x+18=0
(d) sin®2x+22sin2x-18=0
48. afe sin2x=a—b«f§ %, el a 3R b

gAY HEATY € 3K ¢ TH AW HEAT
eMa-—b+2cHAA TG ?

(@ 0
(b) 14
) 21

(d) 28



Consider the following for the next two
(02) items that follow :

Consider the sum
S=01+11+2!1+3!+4!+. ...+ 100!
43, If the sum S is divided by 8, what
is the remainder ?
(a) 0
(b) 1
(c) 2
(d) Cannot be determined

44. If the sum S is divided by 60, what is
the remainder ?

(@ 1

(b) 3

(c) 17

(d) 34
Consider the following for the next two
(02) items that follow :

In a triangle POR, P is the largest angle
and cosP = % Further the in-circle of the

triangle touches the sides PQ, OR and RP
at N, L and M respectively such that the
lengths PN, QL and RM are n, n+2, n+4
respectively where » is an integer.

45. What is the value of n ?
(a) 4
(b) 6
(c) 8
(d) 10

46. What is the length of the smallest
side ?

(@ 12
(b) 14
(c) 16

(d 18

Consider the following for the next two
(02) items that follow :

Given that
sinx+cosx + tanx + cotx +secx +cosecx =7

47. The given equation can be reduced to
(a) sin?2x—44sin2x+36=0
(b) sin®2x+44sin2x-36=0
(c) sin?2x—-22sin2x+18=0

(d) sin®2x+22sin2x-18=0

48. If sin2x=a-bc, where a and b
are natural numbers and c is prime
number, then what is the wvalue of
a-b+2c?

@ 0
(b) 14
() 21
(d) 28
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AW M AT oY (02) WAt & foru Freforfea
‘Rﬁ?!’('iﬁﬁﬂl

& feurdta adfieor sawer fear mar @
(3+2\/5)32-(4+2\/§)x+(8+4\/§)=0

49. FHaRT F TSl H HM FT & ?
(a) 2
®) 4
(©) 242
d) 2v3
50. FHIERU & el 1 GM T § ?
(a) JE(JE—@+J§-1)
() V2(V6+3-42-1)
© (Vo-3++2-1)

@ (V6+3++2-1)

AW AW a1 3Y (02) WAt ¥ fore Frafrfea
R famr Hifvm . '
7™ Hifg

a b acd+b

A(a, b,c, @)=| b ¢ ba+c

ac+b ba+c 0

51.9f¢ A(a, b, ¢, @)=0 T TAF a>0
& fou freforfea § S-mradr @ 2

- (a) a,b,cAPHR
(b) a,b,cGPHE

ASGT-B-GNL - A

(c) a,2b,c APHE
(d) a,2b,cGPHE

52. ¢ A(7, 4, 2, a)=oa’t¢ frfafea
ﬁﬁﬂ—%@“ﬂ"ﬁﬂ?{waﬂﬂ?{(rooﬂ% ?

(@) 7x*+4x+2=0

(b) 7x*-4x+2=0

(©) 7x*+8x+2=0

(d) 7x*-8x+2=0
AW FM AT QY (02) v F fog Feafafea
R fow #ifg .
fer & % m(6) = cot?0 + n*tan?0 + 2n
W& n T faq s arafis den €
53. m(0) &1 AT A HT § ?

(@) n

(b) 2n
(c) 3n
(d) 4n
54. f5m witme & sicwta m &1 7w gmaw

B ?

~(a) n=tan0
(b) n=cot?6
(c) n = sin?0

(d) n = cos?0



Consider the following for the next two
(02) items that follow :

A quadratic equation is given by

(3+2\E)x2—(4+2wf§)x+(8+4'\/§)=0

49. What is the HM of the roots of the
equation ?

(@) 2
() 4

) 242
d) 243

50. What is the GM of the roots of the
equation ?

(a) ﬁ(%—ﬁafi-l)
) V2(V6+3-+2-1)
© (V6-+3+42-1)
@ (V6+3+42-1)

Consider the following for the next two
(02) items that follow :

a b aoc+b
b c ba+c
acd+b ba+c 0

Let A(a, b, ¢, @)=

51. If A(a, b, ¢, a)=0 for every a > 0,
then which one of the following is
correct ?

(@) a, b, c are in AP
(b) a, b, c are in GP

19

52.

83.

(c) a, 2b, c are in AP

(d) a, 2b, c are in GP

If A(7, 4, 2, a)=0, then «a is a root
of which one of the following
equations ?

(@) 7x*+4x+2=0
() 7x2-4x+2=0
(c) 7x*+8x+2=0

d) 7x>-8x+2=0

Consider the following for the next two
(02) items that follow :

Given that m(0)= cot’6+n’tan’0 + 2n,
where 7 is a fixed positive real number.

What is the least value of m(6)?
(a) n

(b) 2n

(¢) 3n

(d) 4n

54. Under what condition does m attain the

least value ?

(a) n = tan?6
(b) n = cot?
(c) n = sin®0
(d) n = cos?@
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IR W A QA (02) TET & forw Frefifea
Wﬁﬂiﬁﬁ'{q

@t x=0,y=0, x+y=1 3R 6x+y=3
| T TG S R

55. fru-7@-fag (origin) ¥ A =
Tererol =1 eftawor FT @ 2

(@ 3x+y=0
(®) 2x+3y=0
() 3x-2y=0

(d 3x+2y=0

56. qER oo o e = @ 2
@ x+2y-1=0
() x-2y-1=0
© 2Zx+y+1=0

d 2x+y-1=0

AW AW T 3 (02) W F fou Fraferfea
“ﬁi’l’(@ﬁm

QgE 2+ 42 =1 R @ g P, y) 2 |
aH S £, F ddaw & B § |

57. PE + PF foweh sRsR & ?
(@) 1
(b) 2
(c) 3
(d) 4

ASGT-B-GNL - A

IR e faget # Am-wr defga &
f¥reie (latus rectum) W ?

(a) Fae 13K 2

(b) Faw 2 3R 3

(c) *aer 13K 3

(d 1,23K 3

R 3 AT QY (02) T F forn Frefafe
Wﬁiﬂfﬁﬁ"{

[Wly=x 99 (x— a)*+?=a> A QA G §

59. @S I SAFA FT 8 ?

(7:—2)02
4

(@)

(r-1)a®

(b)

(r-2)a?
L
(m—1)a>

(@ 2




Consider the following for the next two
(02) items that follow :

A quadrilateral is formed by the lines
x=0,y=0,x+y=1and 6x+y=3.

55. What is the equation of diagonal
through origin ?

(@ x+y=0
(b) 2x+3y=0
() 3x-2y=0

d 3x+2y=0

56. What is the equation of other diago-
nal ?

(a x+2y-1=0
b)) x-2y-1=0
() 2x+y+1=0

d 2x+y-1=0

Consider the following for the next two
(02) items that follow :

P(x,y) is any point on the ellipse
x2+4y2=1. Let E, F be the foci of the
ellipse.

57. What is PE + PF equal to ?
(a) 1
(b) 2
) 3
(d 4

58. Consider the following points :
%

LI
2

5 faE
'\2’4

s (a8 1
8 S

Which of the above points lie on latus
rectum of ellipse ?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

() 1,2 and 3

Consider the following for the next two
(02) items that follow :
The line y = x partitions the circle

(x—a)? +y? =a? in two segments.

59. What is the area of minor segment ?

(m-2)a®

(a) 2

) (r—1)a?

® 4

(7~ 2)02

(©) >

(m-1)a?

oy T

A — ASGT-B-GNL



60. TGS T AAFT T © ?

2
@ (37 —42)a
(37 +2)a?
4

(®)

(3w -2)a®
2

(©)

(37 +2)a?

(d) 5

FR T AT QY (02) WAl & for Frafafea
Wﬁ?ﬁ‘mplﬁl'q

qM A A(1, -1, 2) 3R B@, 1, -1)
T x2+y? +22 +2ux + 2wy + 2wz —1=0
¥ =W ¥ 3y fog &
61. u+v+wfFas sRER & ?
@@ -2
() -1
(¢ 1
@ 2
62.7f¢ P(x, y, z) M9 W = fag & @
PA? + PB? fermds sRIeR @ 7
(a) 15 |
(b) 14
(© 13
(d) 65

ASGT-B-GNL - A

22

HW AW 9T & (02) WAt F T Frafafaa
Wﬁwfﬁ'&fq

7 @t | fEr fifg s g s
(2,-1,2)3ﬂt(k,3,5)%|ir‘<@1q'a?m%

R IFG § |

63. k FHF FT R ?
(a) 4
() 2
(c) 1
(d -1

64. 30 Y@ F % squma w=n €, S oM
eIl i i
@ (1,2, 10)

®) 1,2, 10)
@ (11, 12, -10)
@ (1,2, -10)

AR 3 AT 3 (02) WAl F foru Frafafea
Wﬁﬁﬂw
WA AT 7 =37+3j+3k R C=j-%
R um AT b | W R 2h =27
3ﬂ'(2x?=5£‘%|

65. b Fresh ST £ ?
(@) 3i+4/+2k
(b) 5i+2j+2k
(c) 5i-2j+6k

(d) 3i+3j+4k



60.

What is the area of major segment ?

(3n-2)a®
o cae
(37 +2)a?

(b) e
(37 -2)a?

ey

2
(d) (37 -}-2 2)a

Consider the following for the next two
(02) items that follow :

Let A(1, -1, 2) and B(2, 1, 1) be the end
points of the diameter of the sphere
x* +y2 +22 +2ux +2vy +2wz—1=0.

61.

62.

What is u + v+ w equal to ?
(@ 2

(b) -1

o)1

(d) 2

If P(x, y, z) is any point on the sphere,
then what is P42+ PB? equal to ?

(a) 15
(b) 14
(c) 13

@) 65

Consider the following for the next two
(02) items that follow :

Consider two lines whose direction ratios
are (2, -1, 2) and (k, 3, 5). They are inclined

/4
at an angle —.
& 4

63. What is the value of k ?
(a) 4
(b) 2
() 1
(d -1

64. What are the direction ratios of a line
which is perpendicular to both the
lines ?

@ (1,2, 10)

(b) (-1, -2, 10)
(©) (11, 12, -10)
(d) (11, 2, -10)

Consider the following for the next two
(02) items that follow :

Let Z=37+3j+3% and Z=}-k Let b

be such that 3-3)= 27 and 3><5)=9c

65. What is b equal to ?
(a) 3i+4j+2k
(b) 51+2j+2k
(c) 5i-2j+6k
(d) 3i+3j+4k
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66. (@+5) IR C FAT TR TR ? P s

81
@ =
£ o @ >
T
®) 3
aﬁaﬁaﬁa(oz)mﬁ%%qﬁmﬁr%a
(c) % Wﬁ?ﬁiﬁ'&q
Q1 fagatt 4 ok B fufa wfew wma: 7-
T o
@ % IR j+k B

FR 3 T QA (02) W F fore Frfafam 69. Frfafaa fogait w far Hiftm .
Wﬁ?‘l’(zﬁﬁﬂ{

- P
Hﬁ@ﬁﬂ@'ﬂﬁﬂa =47 - 8}+I? % X 2. (1,3, 2)
g&t Fi grene feamsit & @ wwa: o, B, y T
IV T © | 3.2 5,3)
67. fres R ? 7 S fagett & -8 fag 4 SR B R
e ; et e Yar w o & 7
1
@ 3 (a) Fae 13K 2
4
® 3 (b) %aw 2 3R 3
: (c) Shae 1 3R 3
(c) 9
| (d 1,23R3
2
@ 3 a
70. AB <1 qfwmor w4 § ?
68. cos2+ cos2y ToFaa e @ ? (a) 2
( 32 (b) 3
T
81
(c) J6
_E :
» @ 3
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66. What is the angle between (2 +5) and

c?

(@)

(SR

(b)

w|

&8

(c)

@ %

Consider the following for the next two
(02) items that follow :

Let a vector @ =4i—8] +k make angles

a, B, y with the positive directions of
x, y, z axes respectively.

67. What is cosa equal to ?

1
) =

(®)

O |

(©)

O | W

2
@ 3

68. What is cos2f8 + cos2y equal to ?

32
(a 31
16
(b) 31

25

16
(c) 31

32
(d) 31

Consider the following for the next two

(02) items that follow :

The position vectors of two points 4 and B
are -/ and j+k respectively.

69. Consider the following points :

70.

Bl
2 ¢5L3D

3 L5

Which of the above points lie on the
line joining 4 and B ?

(a) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2 and 3

What is the magnitude of 4B ?

(a) 2
(®) 3
© 6
d 3

A — ASGT-B-GNL



I AW AW A (03) ‘we ¥ fam
Frfirfea w e e -

AA AT f(x) = Pe*+ Qe + Re>*, e
P, 0, R arcafas @@ € | T sfaRes

f©) =6, fn3) =282 [ f(x)dr =11

7.OFMAFA FT R ?
@@ 1
(b) 2
() 3

(d) 4

TZ.REAR AR ?
(@ 1
(b) 2
(c) 3

(d) 4

73. £(0) formas srra @ 2
(@ 18

(b) 16

(© 15

d) 14

ASGT-B-GNL - A

AW AW T 3 (02) WA & forg Frafafaa
Wﬁiﬁzﬁﬁm

M i £ @ dede weaRer @ W)
TH-FA )’ =2ex+2cdc W frefim wwan
®, STel ¢ T ST el @ |

74. T8 FAHA FHIG H Ffe (order) FT
27
(@ 1
(b) 2
fc) .3
(@ 4

75. 30 e GHIEUT Y UG (degree) FT
g7
(@) 2
(®) 3
(c) 4
(d) wa & Afe 7@

N FW A dW (03) Wt ¥ faru

freafafas = faer $iftng .
coss: x 0.1
HA HC f(x)=[2sinx x° 2x
L FF§  crh |
76. £(0) T sReR & 2
(@ -1
(®) o
() 1
@ 2

26



Consider the following for the next three Consider the following for the next two
(03) items that follow : (02) items that follow :

Let f(x)= Pe*+ 0e** + Re>* whefc P, Q Suppose E is the differential equation repre-
R are real numbers. Further f(0)=6,  senting family of curves y* =2ex+2c\e

£'(In3) = 282 and IM fx)dx=11 where c is a positive parameter.
0
74. What is the order of the differential
equation ?
71. What is the value of O ?
(a 1
(@) 1 (b) 2
® .2 (© 3
d) 4
© 3 (d)
75. What is the degree of the differential
d) 4 equation ?
(@ 2
72. What is the value of R ?
(b) 3
(@ 1 (c) 4
(b) 2 (d) Degree does not exist
(c) 3 Consider the following for the next three
(03) items that follow :
.l cosx x -1
Let f(x)=|2sinx % 2x
73. What is £'(0) equal to ? tanx x 1
(a) 18 76. What is f(0) equal to ?
() 16 @) =1
(®) 0
c) 15
(c) © 1
(d) 14 (d) 2
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77.Jl‘i_%f§rx)fél?a%ﬁm%? so.f[%]ﬁm%aw%?

(a) -1 b
(a) NG
®) 0
(b) -1
© 1 () 1
1
d) 2 (d) N
7s.§%f£;)ﬁﬂ%mﬁ? W I AW AW (03) we ¥ fom
frafafas = fer $ift
(a) -1
AR Pl
(b) 0 G II_-[() 1+cosz.:raﬁ|r &
— s 1 ;
©:1 & 0 1+sin2xdx%
d) 2 L+1
@ 81. I:éasrmaw%?
AW AW 9 q (02) WA & forg Frafafag @) 1
Wﬁiﬂﬁ&l’({ ®)
A ST £ (x) = sin[7 Jx + cos[-72 |x el s
[] T Weaw quils werd © |
n+1
' ol
79. f(%)ﬁm%m% ?
82. 8If AR TR ?
(@ -1
(@ =«
®) 0 ®) 72
(C) 1 (c) 7[3
@ 2 @ =*
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77. What is lim @ equal to ? 80. What is f (%} equal to ?

(@ -1

1
[ e g
2
(b) 0 i
(b) -1
1
(©) © 1
@ 2 ¥
(d) 2
78. What is lim J(x) equal to ? Consider the following for the next three
e (03) items that follow :
(@) -1 ad
(b) 0 0 1+cos“x
RO
12 =‘[ ) dx
(¢ 1 0 1+sin“x
L+,
(d) 2 81. What is the value of 7 —;~ ?
1~ 42
Consider the following for the next two (@) 1
(02) items that follow : ®) =
Let f (x)=sin[7r2]x+cos[-7r2]x where [.] 2
is a greatest ‘integer function %
: z+1
@ gl |

79. What is f[fzf) equal to ?

82. What is the value of 877 ?

(@ -1

(@ =
(b) 0 e
(c) 1 © =
d 2 () =*
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83. L AH 1§ ? I FM A dF (03) wE F g

frafafas | fer Hifv .
3
@ 7 A G f(x) = |Inx| x#1 %
s 86. x=0-5 T f(x) FT FaGHeTT T & ?
(b) EW/
(@) -2
n
=1
(c) 2 (b)
c) -1
n
d W/ @ 2

'maﬁaﬁa(oz)mﬁﬁﬁqﬁ are 87.x=2 W f(x) 1 el 1 & ?
Wﬁﬂ'ﬂ'ﬁﬁf({: 1

_ (a) 3
Rﬁ?-ﬂﬁml:_[b%dx, a<b :
? (b) -1
84. | s TR e Td a<0<bhb ® ? :
@ a+b © 3
(b) a-b d 2
) f-a 8. fof (x) & I T &, Tal 1 <x <2
- ?
@ —(“;b) 5
1
(@) o
85. | s SR e 9 d a<bh<0® ?
1
@ a+b (b) xlnx
(b) a-b "
(c) e
(c) b-a nx
(a+b) Sxadl
@ T C xlnx
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83. What is the value of I, ? Consider the following for the next three
(03) items that follow :

n
Let f(x)=|lnx|, x#1
@ 7 £()=|inx
86. What is the derivative of f(x) at
P x=05?
® 3% @ -2
3 (b) -1
c
© 25 © 1
¥ @ 2
@ 2%
87. What is the derivative of f(x) atx=2?
Consider the following for the next two 1
(02) items that follow : @ —3
Let 1=["Blax | a<h () -1
== iy 5 o
84. What is / equal to when a<0<5b? (c) %
(a) a+b @ 2
(®) a-b
88. What is the derivative of fof(x), where
(©) b-a 1<x<2?
@ 2
(@) Inx
85. What is / equal to when a<b<0? 1
(@) a+b ®) Yinx
(b) a-b 1
© Inx
(c) b-a
(a+b) - sl
@ 2 @ xlnx
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AR AW AT Y (02) WAl & forg Frafoafea 92. sin?x &1 cos2x & HeH ¥ Iawas T

x+6, x<1 (@ -1
qA G f(x)={px+q, 1<x<2 b 1
5x, x=2 - (c) sin2x
AR f(x) G ¥ | (d) cos2x

93.m<0 dfga m & T 7w & fo

89.p AN HIE 7
# & TGt Yy=x, y=mx IR x=2 g

@@ 2 IReg @9%er 3% SR § ?
®) 3 o
(© 4 ®) -1
@ 5 3
(el =5
90. g & AH FTE ? i
)2 94, cosec(x°) 1 FawTS FT & ?
(®) 3 (a) —cosec(x°) cot(x°)
(c) 4 (b) —Tg—a cosec(x°) cot(x°)
@@ 5
(c) %cosec(f) cot (x°)
91. frafafes Faet w fmr 6ifte .
/1
L. fx) = Inx, (0, c0) ¥ A 2 (d) ~ g comet(x) cotlx)

&
2. g(x) = e*+e*, (0, ) ¥ ZaH § dodit
95, A THIRU [—y) —xZ -0 =

I wYAl § W a1/ Al & /8 ? dx dx
T '
(a) a9 1 o v
(b) &= 2 (b) y=2x+4
(©) 13K 23 I y=12;"1
P a2)
(@ TR, TE2 (O ¥7—r
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Consider the following for the next two
(02) items that follow :

Let f(x)=

x+6, x<1
px+q, 1<x<2
5x, x=2

and f(x) is continuous

89.

90.

91.

What is the value of p ?
(a) 2
(®) 3
(c) 4
@ 5

What is the value of g ?
(@) 2
(b) 3
(c) 4
@ 5

Consider the following statements :
1. f(x) = Inx is increasing in (0, o)
1

2. gx) = e*+e*
(0, )

is decreasing in

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

92.

93.

94.

9s.

What is the derivative of sin’x with
respect to cos2

%t
(@ -1
(b) 1
(c) sin2x
(d) cos2x

For what value of m with m <0, is the
area bounded by the lines y =x, y = mx
and x=2 equal to 3 ?

® -
(®) -1
© -3
@ -2

What is the derivative of cosec(x®) ?

(a) —cosec(x°) cot(x°)

b) = @ cosec(x°) cot(x°)

() ﬁ cosec(x°) cot (x°) -

@ = % cosec(x) cot(x)

A solution of the differential equation
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96. ¢ flx)=x2+2 IR gx)=2x-3
2, @ (R)(1) fFed st R 7

(@ 3
®) 1
) -2
@ -3

T f(x)=x+|x| S YTH (range)
T ® ? Wl B9 & Wid (Domain)

97.

afe f(x)=x(@x2-3) ®, @A f(sin)
foros R B 7

(a) —sin360
(b) —cos36
(c) sin36

98.

(d) —sin46

foraes s ® 7

lim S-x

99.
x—)SIx —5[

@ -1

() 0

© 1

(d) drm = afera 78 2

ASGT-B-GNL - A
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100.

101.

102.

@
lim* -1

fores s © 7

(a) -1

(b) -3

(c) 3

(@ @ = afeea @ 2

I WUl F WIEm 3R WERU AN

14 3R 132 8| 99 ¥ ¥ 99 oy
11, 16 3R 20 ¥ | 37 <Y ey =1 § ?

(a) 8 3R 15
) 9 3K 14
(c) 103K 13
(d) 113K 12

M i 4 3R B @ @ad "o W
WFR & &

P(4)=07, P(B)=k, P(AUB)=038
RlkFAATR ?

@ >
4
®) =

2
© 7

(d)



96. If f(x) =x>+2 and g(x) = 2x -3, then

97.

98.

99.

what is (f2)(1) equal to ?
(@ 3
(b) 1
(c) -2

(d -3

What is the range of the function -

f(x) =x + |x| if the domain is the set of
real numbers ?

(@) (0, »)
(b) [0, )
(© (-, )
(d) [1, @)

If f(x)=x(4x*-3), then what is
f(sin@) equal to ?

(a)
(b)
©
(d)

—sin360
—cos360
sin36

—sin40

What is lim 2=
x5|x -5

equal to ?

(a) -1
®) 0
(c) 1

(d) Limit does not exist

35

100. What is lim >

101.

102.

|

x—)lx =}

equal to ?

(@ -1
(b) -3
©) 3

(d) Limit does not exist

The mean and variance of five obser-
vations are 14 and 13-2 respectively.
Three of the five observations are 11,
16 and 20. What are the other two
observations ?

(a) 8 and 15
(b) 9 and 14
(c) 10 and 13

(d) 11 and 12

Let A and B be two independent events
such that

P(A)=07, P(B)=k, P(AUB) =08.
What is the value of k£ ?

(a)

|

|

(®)

~ M

(c)

@

3| —
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103.

104.

105.

& AfFa R & fad R (head)
mﬁﬁmﬁwiﬁ,mmm

T R | 9@ 99 W Witk € fe
Ted T IR SO § YE (tail) 3T AR
Sueh g e amg 2

81

@ 32

81

()

81

© 256

27

(d)m
s R 3@ weR aftma © f s
@ (head) I &t GHTEAT 9E (tail) A
i wwE ¥ T | R & SR
WaT J9El # §ie b fua s
a1 wifrear ® ?

8L

- 256

27

® =

27

© 25

@ 35

A1 it X 3R ¥ @ awgfes | W
wER § 6 X+ ¥=100 ? | aft w=w
n =100 3R p = 1 wfteq x fiug siew =
HAE FAT €, TN Y T JE0T 7§ ?

ASGT-B-GNL - A
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106.

107.

108.

1
(d) 16

g x+4y+1=0 3R 4x+9+7=0
T TP @O A y =3 @
xF AT TR ?

(a) -13

(®) -5

(© 5

@ 7

T& g9 91¢ (Pie Chart) & 9R fr=w
el (FF) & G R p, g, r AR s
(faft #) w9 9p=3g = 2r=65 ®1
I FAd § | dp—g 1 7 71 § ?
(@) 12

(b) 24

(¢) 30

(d) 36

4,1,4,3,6,2,1,3,4,5, 1, 6 A& 12
TTET I Teh q19 heh A 1 RO § |
Ife m 3R M FAN: g9 Bre 8 Neqvit
iR R W% 4 V@it F WA €, @
(2m + M) T ST & ?

(a) 10

(b) 12

fc) 17

d 21



103.

104.

105.

A biased coin with the probability of
getting head equal to % is tossed five
times. What is the probability of

getting tail in all the first four tosses
followed by head ?

81
@ 55

81

(b) T
. 81
(©) 556

27

@ To2a

A coin is biased so that heads comes
up thrice as likely as tails. In four
independent tosses of the coin, what is
probability of getting exactly three
heads ?

81
(a) 255

27
(b) @

27
Cu) e A
i 256

@ 356

Let X and Y be two random variables
such that X+ Y=100. If X follows

Binomial distribution with parameters

n=100 and p = %, what is the variance
of Y?

(@) 1
(b)

(c) 16

@ —

106. If two lines of regression are
x+4y+1=0 and 4x+9+7=0,
then what is the value of x when
y=-37

(a) -13
() -5
) 5
@ 7
107. The central angles p, g, r and s
(in degrees) of four sectors in a

Pie Chart satisfy the relation 9p = 3q =
2r = 6s. What is the value of 4p—¢ ?

(a) 12
(b) 24
(c) 30
(d) 36

108. The observations 4, 1, 4, 3, 6, 2, 1,
3,4, 5, 1, 6 are outputs of 12 dices
thrown simultaneously. If m and M are
means of lowest 8 observations and

highest 4 observations respectively,
then what is (2m + M) equal to ?

(@ 10
(b) 12
(c) 17
d) 21

37 A — ASGT-B-GNL



109. 7% foR 1 wpemg H Faw@ q g 112.321-1, 1, 4, 3, 8, 12, 17, 19, 9, 11

110.

111.

LDIAR G, 1A yH xR
TETHAY @1 T B ?

(@ x-4y+5=0
(b) 3x+2y—-1=0
(c) x+4y+1=0
(d) 5x—-4y+1=0

TF IR H 10 IR IS @7 ¢ 3R
ﬁmwﬁvmm@%%

T L T 14654

T WER W6 T (data) 1 Sgeh T
' ?

(@ 6
(b) 4
() 2
@ 1
frafafes sRarar §eq w® R
Ao :

x 1 2 3 5

G s 6 9 7

deT H AR 7 TR ?
(@ 1
(b) 2
(© 3
d) 35

ASGT-B-GNL - A
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113.

114.

& forg, aR Moeat 5 et 6w
2 3R N afed a= JEoi it wrfere
T NAM-NFAAFTE ?

(@ 7

(b) 4

fe)- 1

d 0

maﬁﬁqﬁvﬁdasp=4g=§
& fow P, 0, R wuw: wWiem, wifers
IR wgos @ frefm o= €1 @

P+Q
<Rl HIF T ?
2P+07R L

L3
12

(a)
1
(b) 7

©

=RN S}

[a—

(d)

@A 1,2,22,23, ..., 2", &I TONRR
e G R, @ 1+ 2log,G & HH FT

g7
(@) 1
(b) 4
O 2

@) n



109.

110.

111.

A bivariate data set contains only two
points (-1, 1) and (3, 2). What will be
the line of regression of y on x ?

() x-4y+5=0
(b) 3x+2y-1=0
() x+4y+1=0
(d) 5x-4y+1=0

A die is thrown 10 times and obtained
the following outputs :

L2 5L L2465 4

What will be the mode of data so
obtained ?

(a) 6
(b) 4
(c) 2
d 1
Consider the following frequency
distribution :

x 1 2 3 5
Foboa e e 7

What is the value of median of the
distribution ?

(@ 1
(b) 2
(c) 3

@ 35

39

112.

113.

114.

Fordata-1, 1, 4, 3, 8, 12, 17, 19, 9,
11; if M is the median of first 5
observations and N is the median of

last five observations, then what is
the value of 4M - N ?

@ 7
(b) 4
(© 1
@ 0

Let P, O, R represent mean, median
and mode. If for some dist:ibu(tgion
R DR o
=40=—, th hat is ——————
Gl i e T Y
equal to ?

1

@ 35

(b)

.

(©)

N=R I

(d)

|-

If G is the geometric mean of numbers
1,2,22 23, ...,2"! then what is the
value of 1+ 2log,G ?

(@ 1
(b) 4
(€ n-1
@d n

A - ASGT-B-GNL



115. af¢ w@sit 1, 2, 22,23, ..., 2+ & 118. i & % S € | T wiRear € 7

TAHS "1 H ® A n/H fras R St W FEd 3 & O AT, 7
27
1
1 =y
® 2-— Dy
1 o
®) e ® 5
1 1
(C) 2+2n-_1 (C) 2_,?'
1 1
oy %
(d) o (d) 3

116. 9 T & x;, x,, x5, . . . x, B

forer P, w1 @ o T R £ | 119. 71 wifdear & f5 fRgex & wem &

- 5 e Bt ?
ma?ﬁﬁms:z‘;l(hra)z ® SH 61 "
HH ATH TR 99 g SR @

1

P e

(a) : (b) 2
(b) E 3
) =

() 20 7
@ R 2
(d) 5

117. T 3 3 3 W R 2 @l T §, @R
2 TR MITARE NI 20 aeelt 50 ot st 3 3 T o

e 4 & freme R g A ¥ @ e it il o
ot X o et B R e a'@;}naﬁ ® | T wilieean ® 1%
et et & | e e & o g g BN
(8). ==
@ 2 i
47
3 b) =
(b) 20 50
24
© = © 5%
1 49
(d) = (d) 50

ASGT-B-GNL - A 40



115.

116.

117.

If H is the harmonic mean of numbers
1,2, 2% 2%, ...,2"} then what is
n/H equal to ?

1

2ﬂ'+1

(@) 2-

1
2!!'—1
1
2!!—]

1
- PO
@ 2--;

(b) 2-

(c) 2+

Let P be the median, Q be the mean
and R be the mode of observations

X5 X25 X3y« 2 Xy Let 8= 2:;1 (2x; —a)z.
S takes minimum value, when a is
equal to

@) P

o
®) =
(© 20
@ R

One bag contains 3 white and 2 black
balls, another bag contains 2 white
and 3 black balls. Two balls are
drawn from the first bag and put it
into the second bag and then a ball is
drawn from the second bag. What is
the probability that it is white ?

6

(@) 7
33
70

3
10

|
70

(b)

(c)

(d)

41

118.

119.

120.

Three dice are thrown. What is the
probability that each face shows only
multiples of 3 ?

@ 3
® -
© >
@ 3

What is the probability that the month
of December has 5 Sundays ?

(@ 1
(b)

(c)

N Gl B e

(d

A natural number n is chosen from the
first 50 natural numbers. What is the

probability that n + inq <507?
23
25
i
50
24
25
9
50

(a)

(b)

(©)

(d)

A — ASGT-B-GNL
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